

FULLY MODIFIED (p, q) -POLY-TANGENT POLYNOMIALS WITH TWO VARIABLES[†]

N.S. JUNG, C.S. RYOO*

ABSTRACT. In this paper, we introduce a fully modified (p, q) -poly tangent polynomials and numbers of the first type. We investigate analytic properties that is related with (p, q) -Gaussian binomial coefficients. We also define (p, q) -Stirling numbers of the second kind and fully modified (p, q) -poly tangent polynomials and numbers of the first type with two variables. Moreover, we derive some identities are concerned with the modified tangent polynomials and the (p, q) -Stirling numbers.

AMS Mathematics Subject Classification : 11B65, 11B68, 11B73.

Key words and phrases : (P, Q) -polylogarithm function, (p, q) -poly-tangent polynomials, fully modified (p, q) -poly-tangent polynomials of the first type, (p, q) -Stirling numbers of the second kind.

1. Introduction

These days, many researchers are interested in the applications of q -numbers and (p, q) -numbers. In areas of quantum mechanics, physics and mathematics, the applying theory is studied and extended actively. Especially, mathematicians in the fields of combinatorics, number theory and special functions, frequently explorer that(cf [4,5,6,8,9,10,11]). We also investigate the generalization of poly Bernoulli polynomials and poly tangent polynomials involving (p, q) -numbers.

Throughout this paper, we use the following notations. \mathbb{Z} denotes the set of integers, \mathbb{Z}_+ denotes the set of nonnegative integers, \mathbb{R} denotes the set of all real numbers and \mathbb{C} denotes the set of complex numbers, respectively.

The (p, q) -numbers are known by

$$[n]_{p,q} = \frac{p^n - q^n}{p - q},$$

where $0 < q < p \leq 1$. When $p = 1$, we have $[n]_{p,q} = [n]_q$ and $\lim_{q \rightarrow 1} [n]_q = n$.

Received April 13, 2023. Revised June 8, 2023. Accepted July 12, 2023. *Corresponding author.

[†]This work was supported by 2022 Hannam University Research Fund.

© 2023 KSCAM.

The (p, q) -factorial of n of order k is defined as

$$[n]_{p,q}^{(k)} = [n]_{p,q}[n-1]_{p,q} \cdots [n-k+1]_{p,q},$$

for $k = 1, 2, 3, \dots$. If $k = n$, it is denoted $[n]_{p,q}! = [n]_{p,q}[n-1]_{p,q} \cdots [1]_{p,q}$ that is called (p, q) -factorial of n . The (p, q) -Gaussian binomial formula is defined by

$$(x+a)_{p,q}^n = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{k}{2}} q^{\binom{n-k}{2}} a^{n-k} x^k,$$

with the (p, q) -Gaussian binomial coefficient, $\begin{bmatrix} n \\ k \end{bmatrix}_{p,q} = \frac{[n]_{p,q}!}{[k]_{p,q}![n-k]_{p,q}!}$ ($n \geq k$).

In [12], two type of the (p, q) -exponential functions are given as below

$$\begin{aligned} \sum_{n=0}^{\infty} p^{\binom{n}{2}} \frac{x^n}{[n]_{p,q}!} &= e_{p,q}(x), \\ \sum_{n=0}^{\infty} q^{\binom{n}{2}} \frac{x^n}{[n]_{p,q}!} &= E_{p,q}(x). \end{aligned} \tag{1.1}$$

The (p, q) -analogue of polylogarithm function $Li_{k,p,q}$ is known by

$$Li_{k,p,q}(x) = \sum_{n=1}^{\infty} \frac{x^n}{[n]_{p,q}^k}, \quad (k \in \mathbb{Z})(cf[6, 11]).$$

In [5], we defined fully modified q -poly-Bernoulli polynomials $\tilde{B}_{n,q}^{(k)}(x)$ of the first type and fully modified q -poly-tangent polynomials $\tilde{T}_{n,q}^{(k)}(x)$ of the first type.

Definition 1.1. For $n \in \mathbb{Z}_+, k \in \mathbb{Z}, q \in \mathbb{R}$ and $0 < q < 1$, fully modified q -poly-Bernoulli polynomials $\tilde{B}_{n,q}^{(k)}(x)$ of the first type and the fully modified q -poly-tangent polynomials $\tilde{T}_{n,q}^{(k)}(x)$ of the first type are defined by

$$\begin{aligned} \frac{Li_{k,q}(1-e_q(-t))}{(e_q(t)-1)} e_q(xt) &= \sum_{n=0}^{\infty} \tilde{B}_{n,q}^{(k)}(x) \frac{t^n}{[n]_q!}, \\ \frac{[2]_q Li_{k,q}(1-e_q(-t))}{t(e_q(2t)+1)} e_q(xt) &= \sum_{n=0}^{\infty} \tilde{T}_{n,q}^{(k)}(x) \frac{t^n}{[n]_q!}. \end{aligned} \tag{1.2}$$

When $x = 0$, $\tilde{B}_{n,q}^{(k)} = \tilde{B}_{n,q}^{(k)}(0)$, $\tilde{T}_{n,q}^{(k)} = \tilde{T}_{n,q}^{(k)}(0)$ are called fully modified q -poly-Bernoulli numbers of the first type and fully modified q -poly-tangent numbers of the first type. If $q \rightarrow 1$ in (1.2), we have the poly-Bernoulli polynomials $B_n^{(k)}(x)$ and the poly-tangent polynomials $T_n^{(k)}(x)$, respectively.

Substitute $k = 1, q \rightarrow 1$ in (1.2), we have the ordinary Bernoulli polynomials $B_n(x)$ and the ordinary tangent polynomials $T_n(x)$, respectively.

$$\sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} = \frac{t}{e^t - 1} e^{xt}, \quad \sum_{n=0}^{\infty} T_n(x) \frac{t^n}{n!} = \frac{2}{e^{2t} + 1} e^{xt}.$$

Now, we define a special extension of poly-Bernoulli polynomials from (p, q) -analogue of exponential functions and polylogarithm function.

Definition 1.2. Let $n \in \mathbb{Z}_+$, $k \in \mathbb{Z}$, $p, q \in \mathbb{R}$ such that $0 < q < p \leq 1$. We define fully modified (p, q) -poly-Bernoulli polynomials $\tilde{B}_{n,q}^{(k)}(x)$ of the first type by

$$\sum_{n=0}^{\infty} \tilde{B}_{n,p,q}^{(k)}(x) \frac{t^n}{n!} = \frac{Li_{k,p,q}(1 - e_{p,q}(-t))}{(e_{p,q}(t) - 1)} e_{p,q}(xt). \quad (1.3)$$

When $x = 0$, $\tilde{B}_{n,p,q}^{(k)} = \tilde{B}_{n,p,q}^{(k)}(0)$ are called fully modified (p, q) -poly-Bernoulli numbers of the first type. If $p = 1$ in (1.3), we get $\tilde{B}_{n,p,q}^{(k)}(x) = \tilde{B}_{n,q}^{(k)}(x)$.

Definition 1.3. For $n \in \mathbb{Z}_+$, $k \in \mathbb{Z}$, $0 < q < p \leq 1$, the (p, q) -Bernoulli polynomials of order l are defined by

$$\sum_{n=0}^{\infty} B_{n,p,q}^{(l)}(x) \frac{t^n}{n!} = \left(\frac{t}{e_{p,q}(t) - 1} \right)^l e_{p,q}(xt). \quad (1.4)$$

In this paper, we define fully modified (p, q) -poly-Bernoulli polynomials of the first type and fully modified (p, q) -poly-tangent polynomials of the first type. Furthermore, we derive a connection of the two polynomials and investigate some identities that are concerned with (p, q) -Gaussian binomials coefficients. We also construct fully modified (p, q) -poly-tangent polynomials of the first type with two variables using (p, q) -exponential function and observe recurrence formula that are related with (p, q) -Stirling numbers.

2. Some identities of fully modified (p, q) -poly-tangent polynomials of the first type

In this section, we introduce a fully modified (p, q) -poly-tangent numbers $T_{n,p,q}^{(k)}$ and polynomials $T_{n,p,q}^{(k)}(x)$ of the first type by the generating functions. We explore some identities of the polynomials and find a relation connected with (p, q) -analogue of the ordinary tangent polynomials.

Definition 2.1. For $n \in \mathbb{Z}_+$, $p, q \in \mathbb{R}$ such that $0 < q < p \leq 1$, we define (p, q) -tangent polynomials $T_{n,p,q}(x)$ of the first type by

$$\sum_{n=0}^{\infty} T_{n,p,q}(x) \frac{t^n}{[n]_{p,q}!} = \frac{[2]_{p,q}}{e_{p,q}(2t) + 1} e_{p,q}(xt).$$

Definition 2.2. For $n \in \mathbb{Z}_+$, $k \in \mathbb{Z}$, $p, q \in \mathbb{R}$ such that $0 < q < p \leq 1$, we define a fully modified (p, q) -poly-tangent polynomials $\tilde{T}_{n,p,q}^{(k)}(x)$ of the first type by

$$\sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x) \frac{t^n}{n!} = \frac{[2]_{p,q} Li_{k,p,q}(1 - e_{p,q}(-t))}{t(e_{p,q}(2t) + 1)} e_{p,q}(xt). \quad (2.1)$$

When $x = 0$, $\tilde{T}_{n,p,q}^{(k)} = \tilde{T}_{n,p,q}^{(k)}(0)$ are called fully modified (p, q) -poly-tangent numbers of the first type. Note that $p = 1, [n]_{p,q} = [n]_q$, and $\tilde{T}_{n,p,q}^{(k)}(x) = \tilde{T}_{n,q}^{(k)}(x)$.

Theorem 2.3. For $n \in \mathbb{Z}_+, k \in \mathbb{Z}$ and $p, q \in \mathbb{R}$ such that $0 < q < p \leq 1$, the following result holds

$$\tilde{T}_{n,p,q}^{(k)}(x) = \sum_{l=0}^n \begin{bmatrix} n \\ l \end{bmatrix}_{p,q} p^{\binom{n-l}{2}} \tilde{T}_{l,p,q}^{(k)} x^{n-l}.$$

Using the definition of (p, q) -exponential function in (1.1), we derive the next theorem. The result shows that fully modified (p, q) -poly-tangent polynomials of the first type are connected with the fully modified (p, q) -poly-Bernoulli numbers and the (p, q) -analogue of the ordinary tangent polynomials.

Theorem 2.4. For n be a nonnegative integer, $k \in \mathbb{Z}$ and $0 < q < p \leq 1$, we get

$$\tilde{T}_{n,p,q}^{(k)}(x) = \sum_{l=0}^n \frac{\begin{bmatrix} n \\ a \end{bmatrix}_{p,q} \begin{bmatrix} a \\ l \end{bmatrix}_{p,q}}{\begin{bmatrix} n-a+1 \\ p,q \end{bmatrix}} p^{\binom{n-a+1}{2}} \tilde{B}_{l,p,q}^{(k)} T_{a-l,p,q}(x).$$

Proof. Let $0 < q < p \leq 1$. From the definitions of (p, q) -polylogarithm function and (p, q) -exponential function, we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x) \frac{t^n}{[n]_{p,q}!} &= \frac{[2]_{p,q} Li_{k,p,q}(1 - e_{p,q}(-t))}{t(e_{p,q}(t) + 1)} e_{p,q}(xt) \\ &= \sum_{n=0}^{\infty} \tilde{B}_{n,p,q}^{(k)} \frac{t^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} T_{n,p,q}(x) \frac{t^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} \frac{p^{\binom{n+1}{2}}}{[n+1]_{p,q}} \frac{t^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} \sum_{a=0}^n \sum_{l=0}^a \begin{bmatrix} n \\ a \end{bmatrix}_{p,q} \begin{bmatrix} a \\ l \end{bmatrix}_{p,q} \frac{p^{\binom{n-a+1}{2}}}{[n-a+1]_{p,q}} \tilde{B}_{l,p,q}^{(k)} T_{a-l,p,q}(x) \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$

□

By definition of (p, q) -exponential function, (2.1) is expressed with (p, q) -Gaussian binomial coefficient and (p, q) -analogue of ordinary tangent polynomials.

Theorem 2.5. Let $n \in \mathbb{N}, k \in \mathbb{Z}$ and $p, q \in \mathbb{R}$ such that $0 < q < p \leq 1$. Then we have

$$\begin{aligned} &[n]_{p,q} \tilde{T}_{n-1,p,q}^{(k)}(x) \\ &= \sum_{l=0}^{\infty} \sum_{i=0}^{l+1} \sum_{a=0}^n \sum_{\substack{n_1 + \dots + n_{i-1} = n \\ n_1, \dots, n_{i-1} \geq 0}}^a \begin{bmatrix} n \\ a, n_1, \dots, n_{i-1} \end{bmatrix}_{p,q} \frac{\binom{l+1}{i}}{[l+1]_{p,q}^k} (-1)^{a+i} \\ &\times p^{\binom{a-n_1}{2} + \binom{n_1-n_2}{2} + \dots + \binom{n_{i-2}-n_{i-1}}{2}} T_{n-a,p,q}(x). \end{aligned}$$

Proof. For $n \in \mathbb{N}$, $k \in \mathbb{Z}$ and $p, q \in \mathbb{R}$ such that $0 < q < p \leq 1$, using (1.1), we get

$$\begin{aligned}
& \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x) \frac{t^n}{[n]_{p,q}!} \\
&= \frac{[2]_{p,q} Li_{k,p,q}(1 - e_{p,q}(-t))}{t(e_{p,q}(2t) + 1)} e_{p,q}(xt) \\
&= \sum_{l=0}^{\infty} \frac{(1 - e_{p,q}(-t))^{l+1}}{[l+1]_{p,q}^k} \frac{[2]_{p,q}}{t(e_{p,q}(2t) + 1)} e_{p,q}(xt) \\
&= \frac{1}{t} \sum_{l=0}^{\infty} \sum_{i=0}^{l+1} \frac{(-1)^i \binom{l+1}{i}}{[l+1]_{p,q}^k} \sum_{n=0}^{\infty} T_{n,p,q}(x) \frac{t^n}{[n]_{p,q}!} \\
&\quad \times \sum_{n=0}^{\infty} \sum_{\substack{n_1 + \dots + n_{i-1} = n \\ n_1, \dots, n_{i-1} \geq 0}} \left[\begin{matrix} n \\ n_1, \dots, n_{i-1} \end{matrix} \right]_{p,q} (-1)^n \\
&\quad \times p^{\binom{n-n_1}{2} + \binom{n_1-n_2}{2} + \dots + \binom{n_{i-2}-n_{i-1}}{2}} \frac{t^n}{[n]_{p,q}!} \\
&= \frac{1}{t} \sum_{n=0}^{\infty} \sum_{a=0}^n \sum_{\substack{n_1 + \dots + n_{i-1} = a \\ n_1, \dots, n_{i-1} \geq 0}} \sum_{l=0}^{\infty} \sum_{i=0}^{l+1} \left[\begin{matrix} n \\ a, n_1, \dots, n_{i-1} \end{matrix} \right]_{p,q} \frac{\binom{l+1}{i}}{[l+1]_{p,q}^k} \\
&\quad \times (-1)^{a+i} p^{\binom{a-n_1}{2} + \binom{n_1-n_2}{2} + \dots + \binom{n_{i-2}-n_{i-1}}{2}} T_{n-a,p,q}(x) \frac{t^n}{[n]_{p,q}!}.
\end{aligned}$$

Therefore, we obtain

$$\begin{aligned}
& \sum_{n=1}^{\infty} [n]_{p,q} \tilde{T}_{n-1,p,q}^{(k)}(x) \frac{t^n}{[n]_{p,q}!} \\
&= \sum_{n=0}^{\infty} \sum_{a=0}^n \sum_{l=0}^{\infty} \sum_{i=0}^{l+1} \sum_{\substack{n_1 + \dots + n_{i-1} = a \\ n_1, \dots, n_{i-1} \geq 0}} \left[\begin{matrix} n \\ a, n_1, \dots, n_{i-1} \end{matrix} \right]_{p,q} \frac{\binom{l+1}{i}}{[l+1]_{p,q}^k} \\
&\quad \times (-1)^{a+i} p^{\binom{a-n_1}{2} + \binom{n_1-n_2}{2} + \dots + \binom{n_{i-2}-n_{i-1}}{2}} T_{n-a,p,q}(x) \frac{t^n}{[n]_{p,q}!}.
\end{aligned}$$

□

The above result can be expressed with multivariate analogue of (p, q) -Rogers-Szegö polynomials. Moreover, the equality leads to a result that is represented with (p, q) -Hermite polynomials.

3. Properties of the fully modified (p, q) -poly-tangent polynomials of the first type with two variables

In this section, we introduce fully modified (p, q) -poly-tangent polynomials of the first type with two variables. We also consider special generating function of (p, q) -Stirling numbers and investigate some properties that is concerned with the generating function.

In [4], the authors introduced (q, r, w) -Stirling numbers. Naturally, the generating series of (p, q) -Stirling numbers of the second kind is defined by

$$\sum_{n=m}^{\infty} S_{p,q,r,w}(n+r+w, m+r+w) \frac{t^n}{[n]_{p,q}!} = \frac{(e_{p,q}(t) - 1)^m}{[m]_{p,q}!} e_{p,q}(rt) E_{p,q}(wt),$$

where $n, m \in \mathbb{Z}_+$ with $0 \leq m \leq n$.

If $r = w = 0$, then we get the following generating function.

$$\frac{(e_{p,q}(t) - 1)^m}{[m]_{p,q}!} = \sum_{n=m}^{\infty} S_{p,q}(n, m) \frac{t^n}{[n]_{p,q}!}. \tag{3.1}$$

For $0 \leq n, m \leq 5$, a few values of the (p, q) -Stirling numbers of the second kind are given as below.

TABLE 1. $S_{p,q}(n, m)$

$n \backslash m$	0	1	2	3	4
0	1	0	0	0	0
1	0	1	0	0	0
2	0	p	1	0	0
3	0	p^3	$\frac{2p(p^2 + pq + q^2)}{p+q}$	1	0
4	0	p^6	$\frac{p^2(p^2 + q^2)(3p^2 + 3pq + q^2)}{p+q}$	$3p(p^2 + q^2)$	1

It makes that the (p, q) -polylogarithm function $Li_{k,p,q}$ is represented with the (p, q) -Stirling numbers of the second kind.

$$\frac{Li_{k,p,q}(1 - e_{p,q}(-t))}{t} = \sum_{n=0}^{\infty} \sum_{l=1}^{n+1} \frac{[l]_{p,q}!}{[l]_{p,q}^k [n+1]_{p,q}} (-1)^{l+n+1} S_{p,q}(n+1, l) \frac{t^n}{[n]_{p,q}!} \tag{3.2}$$

Using the identity in (3.2), we derive the following result which is connected with (p, q) -Stirling numbers of the second kind and (p, q) -analogue of the ordinary tangent polynomials.

Theorem 3.1. For $n \in \mathbb{Z}_+$, $k \in \mathbb{Z}$ and $p, q \in \mathbb{R}$ such that $0 < q < p \leq 1$, the following identity holds

$$\tilde{T}_{n,p,q}^{(k)}(x) = \sum_{a=0}^n \sum_{l=1}^{a+1} \begin{bmatrix} n \\ a \end{bmatrix}_{p,q} \frac{[l]_{p,q}!}{[l]_{p,q}^k [a+1]_{p,q}} (-1)^{l+a+1} S_{p,q}(a+1, l) T_{n-a,p,q}(x).$$

Proof. Let $n \in \mathbb{Z}_+$, $k \in \mathbb{Z}$ and $0 < q < p \leq 1$. By the recomposition of (p, q) -polylogarithm function in (3.2), we have

$$\begin{aligned} \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x) \frac{t^n}{n!} &= \frac{[2]_{p,q} Li_{k,p,q}(1 - e_{p,q}(-t))}{t(e_{p,q}(2t) + 1)} e_{p,q}(xt) \\ &= \sum_{n=1}^{\infty} \sum_{l=1}^{n+1} \frac{(-1)^{l+n+1} [l]_{p,q}!}{[l]_{p,q}^k [n+1]_{p,q}} S_{p,q}(n+1, l) \frac{t^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} T_{n,p,q}(x) \frac{t^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} \sum_{a=0}^n \sum_{l=1}^{a+1} \begin{bmatrix} n \\ a \end{bmatrix}_{p,q} \frac{(-1)^{l+a+1} [l]_{p,q}!}{[l]_{p,q}^k [a+1]_{p,q}} S_{p,q}(a+1, l) T_{n-a,p,q}(x) \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$

Comparing the coefficient both sides, we get

$$\tilde{T}_{n,p,q}^{(k)}(x) = \sum_{a=0}^n \sum_{l=1}^{a+1} \begin{bmatrix} n \\ a \end{bmatrix}_{p,q} \frac{[l]_{p,q}!}{[l]_{p,q}^k [a+1]_{p,q}} (-1)^{l+a+1} S_{p,q}(a+1, l) T_{n-a,p,q}(x).$$

□

Furthermore, (3.2) leads the following identity that are constructed with (p, q) -Stirling numbers and (p, q) -Bernoulli polynomials of order l .

Theorem 3.2. Let $n \in \mathbb{Z}_+$, $k \in \mathbb{Z}$ and $0 < q < p \leq 1$. Then we get

$$\tilde{T}_{n,p,q}^{(k)}(x) = \sum_{a=0}^n \sum_{i=0}^a \frac{\begin{bmatrix} n \\ a \end{bmatrix}_{p,q} \begin{bmatrix} a \\ i \end{bmatrix}_{p,q}}{\begin{bmatrix} i+l \\ l \end{bmatrix}_{p,q}} S_{p,q}(i+l, l) B_{i,p,q}^{(l)}(x) \tilde{T}_{n-a,p,q}^{(k)}.$$

Proof. For $n \in \mathbb{Z}_+$, $k \in \mathbb{Z}$ and $0 < q < p \leq 1$, fully modified (p, q) -poly-tangent polynomials can be indicated by formula that include the fully modified (p, q) -poly-tangent numbers, the (p, q) -Stirling numbers and the (p, q) -poly-Bernoulli

polynomials of order l .

$$\begin{aligned}
 & \frac{[2]_{p,q} Li_{k,p,q}(1 - e_{p,q}(-t))}{t(e_{p,q}(2t) + 1)} e_{p,q}(xt) \\
 &= \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)} \frac{t^n}{[n]_{p,q}!} \sum_{n=l}^{\infty} [l]_{p,q}! S_{p,q}(n, l) \frac{t^{n-l}}{[n]_{p,q}!} \sum_{n=0}^{\infty} B_{n,p,q}^{(l)}(x) \frac{t^n}{[n]_{p,q}!} \\
 &= \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)} \frac{t^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} \frac{S_{p,q}(n+l, l)}{\begin{bmatrix} n+l \\ l \end{bmatrix}_{p,q}} \frac{t^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} B_{n,p,q}^{(l)}(x) \frac{t^n}{[n]_{p,q}!} \\
 &= \sum_{n=0}^{\infty} \sum_{a=0}^n \sum_{i=0}^a \begin{bmatrix} n \\ a \end{bmatrix}_{p,q} \begin{bmatrix} a \\ i \end{bmatrix}_{p,q} \frac{S_{p,q}(i+l, l)}{\begin{bmatrix} i+l \\ l \end{bmatrix}_{p,q}} B_{i,p,q}^{(l)}(x) \tilde{T}_{n-a,p,q}^{(k)} \frac{t^n}{[n]_{p,q}!}.
 \end{aligned}$$

Comparing the coefficient both sides, we get

$$\tilde{T}_{n,p,q}^{(k)}(x) = \sum_{a=0}^n \sum_{i=0}^a \frac{\begin{bmatrix} n \\ a \end{bmatrix}_{p,q} \begin{bmatrix} a \\ i \end{bmatrix}_{p,q}}{\begin{bmatrix} i+l \\ l \end{bmatrix}_{p,q}} S_{p,q}(i+l, l) B_{i,p,q}^{(l)}(x) \tilde{T}_{n-a,p,q}^{(k)}.$$

□

Now, we introduce fully modified (p, q) -poly-tangent of the first type with two variables by using two generating functions in (1.1).

Definition 3.3. For $n \in \mathbb{Z}_+, k \in \mathbb{Z}$ and $0 < q < p \leq 1$, the fully modified (p, q) -poly-tangent polynomials $\tilde{T}_{n,p,q}^{(k)}(x, y)$ of the first type with two variables by

$$\sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x, y) \frac{t^n}{n!} = \frac{[2]_{p,q} Li_{k,p,q}(1 - e_{p,q}(-t))}{t(e_{p,q}(2t) + 1)} e_{p,q}(xt) E_{p,q}(yt). \tag{3.2}$$

In next result, we show the relation between fully modified (p, q) -poly-tangent polynomials of the first kind and (3.2). Also in theorem 3.5, it is continued the recurrence formula from two polynomials.

Theorem 3.4. For $n \in \mathbb{Z}_+, k \in \mathbb{Z}$, we get the addition theorem.

$$\tilde{T}_{n,p,q}^{(k)}(x, y) = \sum_{l=0}^n \begin{bmatrix} n \\ l \end{bmatrix}_{p,q} \tilde{T}_{l,p,q}^{(k)}(x) q^{\binom{n-l}{2}} y^{n-l}.$$

Proof. Let $k \in \mathbb{Z}$ and n be a nonnegative integer. Then we get

$$\begin{aligned} \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x, y) \frac{t^n}{n!} &= \frac{[2]_{p,q} Li_{k,p,q}(1 - e_{p,q}(-t))}{t(e_{p,q}(2t) + 1)} e_{p,q}(xt) E_{p,q}(yt) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \begin{bmatrix} n \\ l \end{bmatrix}_{p,q} \tilde{T}_{l,p,q}^{(k)}(x) q^{\binom{n-l}{2}} y^{n-l} \right) \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$

Thus, we have

$$\tilde{T}_{n,p,q}^{(k)}(x, y) = \sum_{l=0}^n \begin{bmatrix} n \\ l \end{bmatrix}_{p,q} \tilde{T}_{l,p,q}^{(k)}(x) q^{\binom{n-l}{2}} y^{n-l}.$$

□

Theorem 3.5. Let $n \in \mathbb{N}$, $k \in \mathbb{Z}$ and $0 < q < p \leq 1$. We get

$$\tilde{T}_{n,p,q}^{(k)}(x, y) - \tilde{T}_{n,p,q}^{(k)}(x) = \sum_{l=0}^{n-1} \begin{bmatrix} n \\ l \end{bmatrix}_{p,q} q^{\binom{n-l}{2}} \tilde{T}_{l,p,q}^{(k)}(x) y^{n-1}. \quad (3.3)$$

Proof. For $n \in \mathbb{N}$, $k \in \mathbb{Z}$, $0 < q < p \leq 1$, we have

$$\begin{aligned} \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x, y) \frac{t^n}{[n]_{p,q}!} - \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x) \frac{t^n}{[n]_{p,q}!} \\ &= \frac{[2]_{p,q} Li_{k,p,q}(1 - e_{p,q}(-t))}{t(e_{p,q}(2t) + 1)} e_{p,q}(xt) (E_{p,q}(yt) - 1) \\ &= \sum_{n=1}^{\infty} \sum_{l=0}^{n-1} \begin{bmatrix} n \\ l \end{bmatrix}_{p,q} q^{\binom{n-l}{2}} \tilde{T}_{l,p,q}^{(k)}(x) y^{n-1} \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$

Comparing the coefficients of $\frac{t^n}{[n]_{p,q}!}$, the proof is complete. □

Substitute $y = 1$, we get

$$\tilde{T}_{n,p,q}^{(k)}(x, 1) - \tilde{T}_{n,p,q}^{(k)}(x) = \sum_{l=0}^{n-1} \begin{bmatrix} n \\ l \end{bmatrix}_{p,q} q^{\binom{n-l}{2}} \tilde{T}_{l,p,q}^{(k)}(x).$$

Also, the above result is appeared with (p, q) -Stirling numbers and (p, q) -tangent polynomials as below.

Theorem 3.6. Let $n \in \mathbb{N}$, $k \in \mathbb{Z}$ and $0 < q < p \leq 1$. We have

$$\begin{aligned} \tilde{T}_{n,p,q}^{(k)}(x, y) - \tilde{T}_{n,p,q}^{(k)}(x) &= \sum_{r=0}^{n-1} \sum_{a=0}^r \sum_{l=0}^{a+1} \begin{bmatrix} n \\ r+1 \end{bmatrix}_{p,q} \begin{bmatrix} r+1 \\ a \end{bmatrix}_{p,q} \frac{[l]_{p,q}!}{[a+1]_{p,q} [l]_{p,q}^k} \\ &\quad \times (-1)^{l+a+1} q^{\binom{a+1}{2}} y^{r-a+1} S_{2,p,q}(a+1, l) T_{n-r-1,p,q}(x). \end{aligned}$$

Proof. Let $n \in \mathbb{N}, k \in \mathbb{Z}, 0 < q < p \leq 1$. Using the definition of the (p, q) -poly-Bernoulli polynomials, we have

$$\begin{aligned} & \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x, y) \frac{t^n}{n!} - \sum_{n=0}^{\infty} \tilde{T}_{n,p,q}^{(k)}(x) \frac{t^n}{n!} \\ &= \frac{[2]_{p,q} Li_{k,p,q}(1 - e^{-t})}{t(e_{p,q}(2t) + 1)} e_{p,q}(xt) (E_{p,q}(yt) - 1) \\ &= \sum_{n=0}^{\infty} \sum_{l=1}^{n+1} \frac{(-1)^{n+l+1} [l]_{p,q}!}{[n+1]_{p,q} [l]_{p,q}^k} S_{2,p,q}(n+1, l) \frac{t^n}{[n]_{p,q}!} \\ & \quad \times \sum_{n=0}^{\infty} T_{n,p,q}(x) \frac{t^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} q^{\binom{n+1}{2}} y^{n+1} \frac{t^{n+1}}{[n+1]_{p,q}!} \\ &= \sum_{n=1}^{\infty} \sum_{r=0}^{n-1} \sum_{a=0}^r \sum_{l=0}^{a+1} \begin{bmatrix} n \\ r+1 \end{bmatrix}_{p,q} \begin{bmatrix} r+1 \\ a \end{bmatrix}_{p,q} \frac{[l]_{p,q}!}{[a+1]_{p,q} [l]_{p,q}^k} \\ & \quad \times (-1)^{l+a+1} q^{\binom{a+1}{2}} y^{r-a+1} S_{2,p,q}(a+1, l) T_{n-r-1,p,q}(x) \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$

Hence, the recurrence formula is indicated by

$$\begin{aligned} & \tilde{T}_{n,p,q}^{(k)}(x, y) - \tilde{T}_{n,p,q}^{(k)}(x) \\ &= \sum_{r=0}^{n-1} \sum_{a=0}^r \sum_{l=0}^{a+1} \begin{bmatrix} n \\ r+1 \end{bmatrix}_{p,q} \begin{bmatrix} r+1 \\ a \end{bmatrix}_{p,q} \frac{[l]_{p,q}!}{[a+1]_{p,q} [l]_{p,q}^k} \\ & \quad \times (-1)^{l+a+1} q^{\binom{a+1}{2}} y^{r-a+1} S_{2,p,q}(a+1, l) T_{n-r-1,p,q}(x). \end{aligned}$$

□

In the case $y = 1$, we have

$$\begin{aligned} & \tilde{T}_{n,p,q}^{(k)}(x, 1) - \tilde{T}_{n,p,q}^{(k)}(x) = \sum_{r=0}^{n-1} \sum_{a=0}^r \sum_{l=0}^{a+1} \begin{bmatrix} n \\ r+1 \end{bmatrix}_{p,q} \begin{bmatrix} r+1 \\ a \end{bmatrix}_{p,q} \frac{[l]_{p,q}!}{[a+1]_{p,q} [l]_{p,q}^k} \\ & \quad \times (-1)^{l+a+1} q^{\binom{a+1}{2}} S_{2,p,q}(a+1, l) T_{n-r-1,p,q}(x). \end{aligned}$$

Conflicts of interest : The authors declare no conflict of interest.

REFERENCES

1. N.M. Atakishiyev, S.M. Nagiyev, *On the RogersSzegő polynomials*, J. Phys. A: Math. Gen. **27** (1994), L611-L615.
2. Yue Cai, Margaret A.Readdy, *q-Stirling numbers*, Advances in Applied Mathematics **86** (2017), 50-80.
3. Mehmet Cenkcia, Takao Komatsub, *Poly-Bernoulli numbers and polynomials with a q parameter*, Journal of Number Theory **152** (2015), 38-54.

4. U. Duran, M. Acikoz, S. Araci, *On (q, r, w) -stirling numbers of the second kind*, Journal of Inequalities and Special Functions **9** (2018), 9-16.
5. N.S. Jung, C.S. Ryoo, *Identities involving q -analogue of modified tangent polynomials*, J. Appl. Math. & Informatics **39** (2021), 643-654.
6. N.S. Jung, C.S. Ryoo, *A research on linear (p, q) -difference equations of higher order*, J. Appl. Math. & Informatics **41** (2023), 167-179.
7. Takao Komatsu, Jose L. Ramirez, and Victor F. Sirvent, *A (p, q) -analogue of poly-Euler polynomials and some related polynomials*, Reidel, Dordrecht, The Netherlands, 1974.
8. Burak Kurt, *Some identities for the generalized poly-Genocchi polynomials with the parameters a, b , and c* , Journal of mathematical analysis **8** (2017), 156-163.
9. Toufik Mansour, *Identities for sums of a q -analogue of polylogarithm functions*, Letters in Mathematical Physics **87** (2009), 1-18.
10. C.S. Ryoo, *Distribution of zeros of the (p, q) -poly-tangent polynomials*, J. Appl. & Pure Math. **3** (2021), 115-127.
11. C.S. Ryoo, *Some properties of poly-cosine tangent and poly-sine tangent polynomials*, J. Appl. Math. & Informatics **40** (2022), 371-391.
12. P.N. Sadjang, U. Duran *On two bivariate kinds of (p, q) -Bernoulli polynomials*, Miskolc Mathematical Notes **20** (2019), 1185-1199.

N.S. Jung received Ph.D. from Hannam University. Her research interests include analytic combinatorics, special functions and analytic number theory.

College of Talmage Liberal Arts, Hannam University, Daejeon 34430, Korea.

e-mail: soonjn@hnu.kr

C.S. Ryoo received Ph.D. degree from Kyushu University. His research interests focus on the numerical verification method, scientific computing, functional analysis, and analytic number theory. More recently, he has been working with differential equations, dynamical systems, quantum calculus, fractional calculus, and special functions.

Department of Mathematics, Hannam University, Daejeon 34430, Korea.

e-mail: ryooocs@hnu.kr